

November 3, 2020 General Election In-person Voting Location Plan

County: Letcher Total Pages in Plan: _____

*** Please fill out this page and the accompanying form (feel free to make copies if necessary). If you feel any attachments (maps, photos, etc.) will be useful in showcasing your plan, please attach those as well. ***

Is This an Amendment to an Existing Plan? Y/N

If Yes, Please Explain Amendment: _____

Narrative Explanation of County Plan:

Our plan is to have 7 Precincts and for all 7 of them to serve as county-wide Voting Centers. We are going to try to have early voting at our office and at the Letcher County Recreation Center if we can find enough workers.

RETURN ALL DOCUMENTS TO SBE BY FAX: 502-573-4369 or 502-696-1952 OR BY EMAIL: KAREN.SELLERS@KY.GOV BEFORE SEPTEMBER 30,2020.

*** Office Use Only ***

Seen and Approved By: SBE _____ SOS _____ GOV _____

Facility Name/Type <small>*Please Note Which Facility Will Serve as County-wide Voting Center*</small>	Address	Type & Number of Voting Machines	Number of poll workers needed to staff
Archie Boegs Elementary Hetcher County Central High School	1099 Spickett Hwy 806 Edinburg, Ky 40326 435 College Dr. Whitesburg, Ky 41858	2 Express Votes + 1 DS200 3 Express Votes + 3 DS200	4 6
Neon City Hall	955 Main St. Fleming, Va. Ky 41140	2 Express Votes + 2 DS200	4
Jenkins Independent Schools	269 St. Hwy 386 Jenkins, Ky 41537	4 Express Votes + 3 DS200	8
Blackey Senior Citizens Center	283 Main St. Loop Blackey, Ky 41804	2 Express Votes + 1 DS200	4
Campbell's Branch Community Center Blair Branch	3104 St. Hwy 1103 Hallie, Ky 41821	2 Express Votes + 1 DS200	4
Old Regular Baptist Church	3 Blair Branch Rd Jermine, Ky 41826	3 Express Votes + 3 DS200	6

1. $\frac{1}{x^2} = x^{-2}$ $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$
 2. $\frac{1}{x^3} = x^{-3}$ $\frac{d}{dx} x^{-3} = -3x^{-4} = -\frac{3}{x^4}$
 3. $\frac{1}{x^4} = x^{-4}$ $\frac{d}{dx} x^{-4} = -4x^{-5} = -\frac{4}{x^5}$
 4. $\frac{1}{x^5} = x^{-5}$ $\frac{d}{dx} x^{-5} = -5x^{-6} = -\frac{5}{x^6}$
 5. $\frac{1}{x^6} = x^{-6}$ $\frac{d}{dx} x^{-6} = -6x^{-7} = -\frac{6}{x^7}$
 6. $\frac{1}{x^7} = x^{-7}$ $\frac{d}{dx} x^{-7} = -7x^{-8} = -\frac{7}{x^8}$
 7. $\frac{1}{x^8} = x^{-8}$ $\frac{d}{dx} x^{-8} = -8x^{-9} = -\frac{8}{x^9}$
 8. $\frac{1}{x^9} = x^{-9}$ $\frac{d}{dx} x^{-9} = -9x^{-10} = -\frac{9}{x^{10}}$
 9. $\frac{1}{x^{10}} = x^{-10}$ $\frac{d}{dx} x^{-10} = -10x^{-11} = -\frac{10}{x^{11}}$
 10. $\frac{1}{x^{11}} = x^{-11}$ $\frac{d}{dx} x^{-11} = -11x^{-12} = -\frac{11}{x^{12}}$
 11. $\frac{1}{x^{12}} = x^{-12}$ $\frac{d}{dx} x^{-12} = -12x^{-13} = -\frac{12}{x^{13}}$
 12. $\frac{1}{x^{13}} = x^{-13}$ $\frac{d}{dx} x^{-13} = -13x^{-14} = -\frac{13}{x^{14}}$
 13. $\frac{1}{x^{14}} = x^{-14}$ $\frac{d}{dx} x^{-14} = -14x^{-15} = -\frac{14}{x^{15}}$
 14. $\frac{1}{x^{15}} = x^{-15}$ $\frac{d}{dx} x^{-15} = -15x^{-16} = -\frac{15}{x^{16}}$
 15. $\frac{1}{x^{16}} = x^{-16}$ $\frac{d}{dx} x^{-16} = -16x^{-17} = -\frac{16}{x^{17}}$
 16. $\frac{1}{x^{17}} = x^{-17}$ $\frac{d}{dx} x^{-17} = -17x^{-18} = -\frac{17}{x^{18}}$
 17. $\frac{1}{x^{18}} = x^{-18}$ $\frac{d}{dx} x^{-18} = -18x^{-19} = -\frac{18}{x^{19}}$
 18. $\frac{1}{x^{19}} = x^{-19}$ $\frac{d}{dx} x^{-19} = -19x^{-20} = -\frac{19}{x^{20}}$
 19. $\frac{1}{x^{20}} = x^{-20}$ $\frac{d}{dx} x^{-20} = -20x^{-21} = -\frac{20}{x^{21}}$
 20. $\frac{1}{x^{21}} = x^{-21}$ $\frac{d}{dx} x^{-21} = -21x^{-22} = -\frac{21}{x^{22}}$
 21. $\frac{1}{x^{22}} = x^{-22}$ $\frac{d}{dx} x^{-22} = -22x^{-23} = -\frac{22}{x^{23}}$
 22. $\frac{1}{x^{23}} = x^{-23}$ $\frac{d}{dx} x^{-23} = -23x^{-24} = -\frac{23}{x^{24}}$
 23. $\frac{1}{x^{24}} = x^{-24}$ $\frac{d}{dx} x^{-24} = -24x^{-25} = -\frac{24}{x^{25}}$
 24. $\frac{1}{x^{25}} = x^{-25}$ $\frac{d}{dx} x^{-25} = -25x^{-26} = -\frac{25}{x^{26}}$
 25. $\frac{1}{x^{26}} = x^{-26}$ $\frac{d}{dx} x^{-26} = -26x^{-27} = -\frac{26}{x^{27}}$
 26. $\frac{1}{x^{27}} = x^{-27}$ $\frac{d}{dx} x^{-27} = -27x^{-28} = -\frac{27}{x^{28}}$
 27. $\frac{1}{x^{28}} = x^{-28}$ $\frac{d}{dx} x^{-28} = -28x^{-29} = -\frac{28}{x^{29}}$
 28. $\frac{1}{x^{29}} = x^{-29}$ $\frac{d}{dx} x^{-29} = -29x^{-30} = -\frac{29}{x^{30}}$
 29. $\frac{1}{x^{30}} = x^{-30}$ $\frac{d}{dx} x^{-30} = -30x^{-31} = -\frac{30}{x^{31}}$
 30. $\frac{1}{x^{31}} = x^{-31}$ $\frac{d}{dx} x^{-31} = -31x^{-32} = -\frac{31}{x^{32}}$
 31. $\frac{1}{x^{32}} = x^{-32}$ $\frac{d}{dx} x^{-32} = -32x^{-33} = -\frac{32}{x^{33}}$
 32. $\frac{1}{x^{33}} = x^{-33}$ $\frac{d}{dx} x^{-33} = -33x^{-34} = -\frac{33}{x^{34}}$
 33. $\frac{1}{x^{34}} = x^{-34}$ $\frac{d}{dx} x^{-34} = -34x^{-35} = -\frac{34}{x^{35}}$
 34. $\frac{1}{x^{35}} = x^{-35}$ $\frac{d}{dx} x^{-35} = -35x^{-36} = -\frac{35}{x^{36}}$
 35. $\frac{1}{x^{36}} = x^{-36}$ $\frac{d}{dx} x^{-36} = -36x^{-37} = -\frac{36}{x^{37}}$
 36. $\frac{1}{x^{37}} = x^{-37}$ $\frac{d}{dx} x^{-37} = -37x^{-38} = -\frac{37}{x^{38}}$
 37. $\frac{1}{x^{38}} = x^{-38}$ $\frac{d}{dx} x^{-38} = -38x^{-39} = -\frac{38}{x^{39}}$
 38. $\frac{1}{x^{39}} = x^{-39}$ $\frac{d}{dx} x^{-39} = -39x^{-40} = -\frac{39}{x^{40}}$
 39. $\frac{1}{x^{40}} = x^{-40}$ $\frac{d}{dx} x^{-40} = -40x^{-41} = -\frac{40}{x^{41}}$
 40. $\frac{1}{x^{41}} = x^{-41}$ $\frac{d}{dx} x^{-41} = -41x^{-42} = -\frac{41}{x^{42}}$
 41. $\frac{1}{x^{42}} = x^{-42}$ $\frac{d}{dx} x^{-42} = -42x^{-43} = -\frac{42}{x^{43}}$
 42. $\frac{1}{x^{43}} = x^{-43}$ $\frac{d}{dx} x^{-43} = -43x^{-44} = -\frac{43}{x^{44}}$
 43. $\frac{1}{x^{44}} = x^{-44}$ $\frac{d}{dx} x^{-44} = -44x^{-45} = -\frac{44}{x^{45}}$
 44. $\frac{1}{x^{45}} = x^{-45}$ $\frac{d}{dx} x^{-45} = -45x^{-46} = -\frac{45}{x^{46}}$
 45. $\frac{1}{x^{46}} = x^{-46}$ $\frac{d}{dx} x^{-46} = -46x^{-47} = -\frac{46}{x^{47}}$
 46. $\frac{1}{x^{47}} = x^{-47}$ $\frac{d}{dx} x^{-47} = -47x^{-48} = -\frac{47}{x^{48}}$
 47. $\frac{1}{x^{48}} = x^{-48}$ $\frac{d}{dx} x^{-48} = -48x^{-49} = -\frac{48}{x^{49}}$
 48. $\frac{1}{x^{49}} = x^{-49}$ $\frac{d}{dx} x^{-49} = -49x^{-50} = -\frac{49}{x^{50}}$
 49. $\frac{1}{x^{50}} = x^{-50}$ $\frac{d}{dx} x^{-50} = -50x^{-51} = -\frac{50}{x^{51}}$
 50. $\frac{1}{x^{51}} = x^{-51}$ $\frac{d}{dx} x^{-51} = -51x^{-52} = -\frac{51}{x^{52}}$
 51. $\frac{1}{x^{52}} = x^{-52}$ $\frac{d}{dx} x^{-52} = -52x^{-53} = -\frac{52}{x^{53}}$
 52. $\frac{1}{x^{53}} = x^{-53}$ $\frac{d}{dx} x^{-53} = -53x^{-54} = -\frac{53}{x^{54}}$
 53. $\frac{1}{x^{54}} = x^{-54}$ $\frac{d}{dx} x^{-54} = -54x^{-55} = -\frac{54}{x^{55}}$
 54. $\frac{1}{x^{55}} = x^{-55}$ $\frac{d}{dx} x^{-55} = -55x^{-56} = -\frac{55}{x^{56}}$
 55. $\frac{1}{x^{56}} = x^{-56}$ $\frac{d}{dx} x^{-56} = -56x^{-57} = -\frac{56}{x^{57}}$
 56. $\frac{1}{x^{57}} = x^{-57}$ $\frac{d}{dx} x^{-57} = -57x^{-58} = -\frac{57}{x^{58}}$
 57. $\frac{1}{x^{58}} = x^{-58}$ $\frac{d}{dx} x^{-58} = -58x^{-59} = -\frac{58}{x^{59}}$
 58. $\frac{1}{x^{59}} = x^{-59}$ $\frac{d}{dx} x^{-59} = -59x^{-60} = -\frac{59}{x^{60}}$
 59. $\frac{1}{x^{60}} = x^{-60}$ $\frac{d}{dx} x^{-60} = -60x^{-61} = -\frac{60}{x^{61}}$
 60. $\frac{1}{x^{61}} = x^{-61}$ $\frac{d}{dx} x^{-61} = -61x^{-62} = -\frac{61}{x^{62}}$
 61. $\frac{1}{x^{62}} = x^{-62}$ $\frac{d}{dx} x^{-62} = -62x^{-63} = -\frac{62}{x^{63}}$
 62. $\frac{1}{x^{63}} = x^{-63}$ $\frac{d}{dx} x^{-63} = -63x^{-64} = -\frac{63}{x^{64}}$
 63. $\frac{1}{x^{64}} = x^{-64}$ $\frac{d}{dx} x^{-64} = -64x^{-65} = -\frac{64}{x^{65}}$
 64. $\frac{1}{x^{65}} = x^{-65}$ $\frac{d}{dx} x^{-65} = -65x^{-66} = -\frac{65}{x^{66}}$
 65. $\frac{1}{x^{66}} = x^{-66}$ $\frac{d}{dx} x^{-66} = -66x^{-67} = -\frac{66}{x^{67}}$
 66. $\frac{1}{x^{67}} = x^{-67}$ $\frac{d}{dx} x^{-67} = -67x^{-68} = -\frac{67}{x^{68}}$
 67. $\frac{1}{x^{68}} = x^{-68}$ $\frac{d}{dx} x^{-68} = -68x^{-69} = -\frac{68}{x^{69}}$
 68. $\frac{1}{x^{69}} = x^{-69}$ $\frac{d}{dx} x^{-69} = -69x^{-70} = -\frac{69}{x^{70}}$
 69. $\frac{1}{x^{70}} = x^{-70}$ $\frac{d}{dx} x^{-70} = -70x^{-71} = -\frac{70}{x^{71}}$
 70. $\frac{1}{x^{71}} = x^{-71}$ $\frac{d}{dx} x^{-71} = -71x^{-72} = -\frac{71}{x^{72}}$
 71. $\frac{1}{x^{72}} = x^{-72}$ $\frac{d}{dx} x^{-72} = -72x^{-73} = -\frac{72}{x^{73}}$
 72. $\frac{1}{x^{73}} = x^{-73}$ $\frac{d}{dx} x^{-73} = -73x^{-74} = -\frac{73}{x^{74}}$
 73. $\frac{1}{x^{74}} = x^{-74}$ $\frac{d}{dx} x^{-74} = -74x^{-75} = -\frac{74}{x^{75}}$
 74. $\frac{1}{x^{75}} = x^{-75}$ $\frac{d}{dx} x^{-75} = -75x^{-76} = -\frac{75}{x^{76}}$
 75. $\frac{1}{x^{76}} = x^{-76}$ $\frac{d}{dx} x^{-76} = -76x^{-77} = -\frac{76}{x^{77}}$
 76. $\frac{1}{x^{77}} = x^{-77}$ $\frac{d}{dx} x^{-77} = -77x^{-78} = -\frac{77}{x^{78}}$
 77. $\frac{1}{x^{78}} = x^{-78}$ $\frac{d}{dx} x^{-78} = -78x^{-79} = -\frac{78}{x^{79}}$
 78. $\frac{1}{x^{79}} = x^{-79}$ $\frac{d}{dx} x^{-79} = -79x^{-80} = -\frac{79}{x^{80}}$
 79. $\frac{1}{x^{80}} = x^{-80}$ $\frac{d}{dx} x^{-80} = -80x^{-81} = -\frac{80}{x^{81}}$
 80. $\frac{1}{x^{81}} = x^{-81}$ $\frac{d}{dx} x^{-81} = -81x^{-82} = -\frac{81}{x^{82}}$
 81. $\frac{1}{x^{82}} = x^{-82}$ $\frac{d}{dx} x^{-82} = -82x^{-83} = -\frac{82}{x^{83}}$
 82. $\frac{1}{x^{83}} = x^{-83}$ $\frac{d}{dx} x^{-83} = -83x^{-84} = -\frac{83}{x^{84}}$
 83. $\frac{1}{x^{84}} = x^{-84}$ $\frac{d}{dx} x^{-84} = -84x^{-85} = -\frac{84}{x^{85}}$
 84. $\frac{1}{x^{85}} = x^{-85}$ $\frac{d}{dx} x^{-85} = -85x^{-86} = -\frac{85}{x^{86}}$
 85. $\frac{1}{x^{86}} = x^{-86}$ $\frac{d}{dx} x^{-86} = -86x^{-87} = -\frac{86}{x^{87}}$
 86. $\frac{1}{x^{87}} = x^{-87}$ $\frac{d}{dx} x^{-87} = -87x^{-88} = -\frac{87}{x^{88}}$
 87. $\frac{1}{x^{88}} = x^{-88}$ $\frac{d}{dx} x^{-88} = -88x^{-89} = -\frac{88}{x^{89}}$
 88. $\frac{1}{x^{89}} = x^{-89}$ $\frac{d}{dx} x^{-89} = -89x^{-90} = -\frac{89}{x^{90}}$
 89. $\frac{1}{x^{90}} = x^{-90}$ $\frac{d}{dx} x^{-90} = -90x^{-91} = -\frac{90}{x^{91}}$
 90. $\frac{1}{x^{91}} = x^{-91}$ $\frac{d}{dx} x^{-91} = -91x^{-92} = -\frac{91}{x^{92}}$
 91. $\frac{1}{x^{92}} = x^{-92}$ $\frac{d}{dx} x^{-92} = -92x^{-93} = -\frac{92}{x^{93}}$
 92. $\frac{1}{x^{93}} = x^{-93}$ $\frac{d}{dx} x^{-93} = -93x^{-94} = -\frac{93}{x^{94}}$
 93. $\frac{1}{x^{94}} = x^{-94}$ $\frac{d}{dx} x^{-94} = -94x^{-95} = -\frac{94}{x^{95}}$
 94. $\frac{1}{x^{95}} = x^{-95}$ $\frac{d}{dx} x^{-95} = -95x^{-96} = -\frac{95}{x^{96}}$
 95. $\frac{1}{x^{96}} = x^{-96}$ $\frac{d}{dx} x^{-96} = -96x^{-97} = -\frac{96}{x^{97}}$
 96. $\frac{1}{x^{97}} = x^{-97}$ $\frac{d}{dx} x^{-97} = -97x^{-98} = -\frac{97}{x^{98}}$
 97. $\frac{1}{x^{98}} = x^{-98}$ $\frac{d}{dx} x^{-98} = -98x^{-99} = -\frac{98}{x^{99}}$
 98. $\frac{1}{x^{99}} = x^{-99}$ $\frac{d}{dx} x^{-99} = -99x^{-100} = -\frac{99}{x^{100}}$
 99. $\frac{1}{x^{100}} = x^{-100}$ $\frac{d}{dx} x^{-100} = -100x^{-101} = -\frac{100}{x^{101}}$